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1. Who is Chris Paine?

A. A computer engineer. B. A book seller. C. A writer.

2. What are the two speakers talking about?

A. A football player. B. A football team. C. A football match,

3. Why did the woman buy a heavy coat for Jimmy?

A. Winter is coming soon.
B. Jimmy will go into the mountains.
C. Jimmy has caught a cold.

4. Where is the woman?

A. In a soap factory. B. In her house.
C. At an information desk.

5. When is the man checking in?

A, Friday. ~ B. Thursday. : C. Tuesday.
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6. What's the matter with Hudson’s mother?
A. She was ill. B. She came to see him. C. She died last week.

7. What kind of person is Mr Hudson?
A. He is a person who often gets angry.
B. He is a person who cares about nothing,

C. He is a very good worker.
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8. Why can’t the woman make it this Friday?
A. She’s going to the cinema. .
B. She’s going to see her mother.
C. She’s going to another get-together.
9. When have they fixed to meet?
A. At 7:45 pm on Saturday.
B. At 8:00 pm on Saturday.
C. At 8:15 pm on Friday.
10. What's the man planning to do for the get-together?
A. To record a new song. B. To listen to a song.

C. To sing a new song.
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11. What are the two speakers talking about?
A. Sydney. B. Hawaii.

C. Christmas holidays.
12. Who will the man stay with during his stay in Hawaii?
A. His parents. B. A host family.
13. What is the woman eager to do?
A. Travel by plane.
B. Enjoy the warm weather,
C. See the koalas.

WrsE 9 Brkbkl, S 14 255 16 M.
14. Where does Mary work? '
A. In a construction company. B. At McDonald’s.
15. When will Tom’s father’s company hire workers?
A. In September. ' B. In June.
16. Is Mary going to the party?
A. No, she doesn’t want to.

B. Yes, she’s going with Joe.
C. No, she isn’t.

C. His friends.

C. With Tom.

C. In August,
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17. Who is the host of this program guide?
A. Adam Owen, B. Peter Blair.

18. How long will the Weather Forecast last?
A. For about 10 minutes. B. For about 15 minutes.
C. For about 20 minutes,

19. What program will begin at 6:45 am?
A. Agricultural Reviews. B. Weather Forecast.
C. World News.

20. What’s the topic of the last program in the morning?
A. Agriculture, B. Sport.

C. Bill James.

C. Literature,

TEAHOE RS 10 BobPR, FIRBTUT BIRME B S 17 258 20 B, B Al = 4.

Time Program

From 5:00 am Agricultural Reviews
From 6:00 am 17. ‘
From 18. am Weather Forecast
From 6:45 am 19.

From 7:30 am 20.
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1. What is the man?

A. A waiter. B. A clerk. - C. A pilot,
2. How many hours does the woman work every week?

A. 40, B. 47. C. 50.
3. What is probably the relationship between the speakers?

A. Sister and brother. B. Mother and son.

C. Teacher and pupil.
4, What would the woman like to drink?

A. Coffee. B. ‘Milk, C. Tea. .
5. What does the woman plan to do tomorrow?
A. Sleeping late, B Do some washing up. C Cooking breakfast herself,
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6. When does the man start his winter holidays?

A. Both the second and third week of January.
B. Either the second or third week of January.
C. Neither the second nor third week of J anuary.

7. What sport is the man’s favorite sport?

A, Skating, B. Surf-skiing. C. Skiing.

WrERs 7 Barkt, S 8 24 10 .

8. What are the two speakers mainly talking about?
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A. Looking for information.  B. Surfing the Internet. C. Writing letters.
9. How much time does the man spend on the Internet?
A. Two or three hours every day.
B. Much time every day.
C. Several hours a week.
10. What do we know about the man?
A. He always sends e-mails.
B. He gets some help from the Web.
C. He is addicted to the Internet.
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11. What does the mother want David to do?
A. To get the bottle on the top of the shelf.
B. To get off the cover of the bottle,
C. To pick up some clothes.
12. Why was David’s father out?
A. Because he was working.
B. Because he went out to take his umbrella,
C. Because David’s mother asked him to go to the cleaner’s.
13. What happened to David’s father?
A. He got wet. B. He was tired.
C. He couldn’t find his dry clothes.
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14. What did the boy mean by speaking “Mary! ... How did you do there?”
A. How Mary went on the holiday.
B. Why Mary went to Denver.
C. What Mary was able to miss at school.
15. What can we infer about Washington’s Birthday from the dlalogue‘?
A. Maybe Washlngton s Birthday is a national holiday.
B. It was fine that day and nobody wanted to stay in.

C. All the students were on their winter holiday that day.
16. What did Mary do on Washington’s Birthday?
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A. She stayed at home. B. She went to the mountain by car.
C. She went to the mountain by train for a holiday.
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17. What did “health” mean in the past?
A. Tt meant having a good body and a good mind.
B. It meant just the absence of illness,
C. It meant living a happy life.
18. What do people nowadays think most of? :
A. Quality of life. B. Absence of disease. C. Medical advances.

19. What’s the people’s avérage age in 19007
Al 47, B. 57. C. 75.

20. What can you learn from the monologue?
A. The people born in 1999 could expect to live to the age of 75.
B. Those who never fall ill are the truly healthy people.
C. Nowadays health also means the improving of the quality of food.
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Two periods The meaning of health The reasons for the differences

In the past It meant the 17 . - | A. It’s related with the length and

the 19 s

It means the well-being of your )
B. 20 have made people live

Today body, 18 and your

longer and healthier.

relationship with other people.
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1. How many apples are there altogether?

A 7. B. 10. C. 13.
2. What is the weather like now?

A. Cloudy. B. Rainy. C. Sunny.
3. Where does this conversation most probably take place?

A. At the airport. B. At a shopping mall. C. At a bus stop.
4. Who has been fired?

A. Susan, B. Maggie.

C. Both Susan and Maggie,
5. What can we know from the conversation?
A. The fitness center is not open today.
B. The woman only exercises on weekdays.
C. The man will go to the fitness center with the woman today.
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6. What music does the man like?

A. Pop. B. Folk, C. Classical,

7. Why does the man not like rock music?

A. It’s too loud. B. It’s boring. C. He doesn’t like fashion,

Wrsk 7 BLbbRE, EIESE 8 4 10 .

8. Why was the man kept in hospital?
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A. His left leg was broken. B. He was badly injured. C. He had a car accident.
9. How did the accident happen?
A. Someone knocked into the back of his car.
B. He had drunk too much and lost his control.
C. He drove too fast. '
10, Where was the man going that day?
A. He was going to work. B. He was going home.
C. He was going to a party.

WTEE 8 Bkl EASE 11 5 13 M.
11. When did the woman first go to work?
A. During her study at high school.
B. After her graduation from high school.
C. While she was at college,
12. What do you know about the woman’s marriage?
A. She will never get married.
B. She will get married next month,
C. She doesn’t want to get married at present.

13. Where does the conversation most probably take place?

A. In a city library. - B. In a manager’s office. C. In a supermarket.
WSS O Bebikt, EIESS 14 25 16 .
14. What is the woman going to do?

A. Attend a party. B. Take a holiday. C. Go on a business trip,
15. When does the woman plan to arrive?

A. Late Friday. B. Midday Saturday. C. Saturday night.
16. What is the weather like in the seaside town during the day?

A. Cold. B. Wet. C. Warm,
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17. How many days a week do American school children attend school?
A. 4 days and a half, B. 5 days and a half. C. 5 days.
18, Which of the following is the popular winter sport for American families?
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A. Playing volleyball. B. Skating. C. Playing football.
19, What kind of work do many American families do over the weekends?

A. Working in vegetable gardens. '

B. Doing business with some businessmen.,

C. Doing some community work,
20. Why are weekends very busy for most Americans?

A. They have to drive everywhere.

B. They have to visit a lot of friends.

C. They have to do some housework.

TEARRE . UTEE 10 Brbbkt, RRBTIT B (5 B SERLSE 17 B4 20 B, 85 Rt = 4id).,

American weekends

People may go shopping, go for a drive, or visit
Things to do at weekends | friends. They also invite friends over and 17

at home,

Sports done at summer

Running, biking, 18 and swimming
weekends
Sports done at winter 19
weekends
Housework  done at | They plant flowers, paint or repair 20 and so

weekends on.
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1. What’s the man doing now?

A. Going to a department store.
B. Typing an essay.
C. Going out for dinner.

2. How did the woman feel about coming back by bus?

A. It was boring. B. It was very nice. C. It saved time,

3. When is Tom planning to leave?

A. At about 5:15. B. At about 5:25. C. At about 5:30.

4, Where does the man want to be a part-timer?

A. In a hotel. B. In an office. C. In a department store.

5. How many children do they have?

A. Two. B. Three. C. Four.
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6. What time will they go to see the Smiths?

A. At 5.30. B. At 6:00. C. At 6.15,

7. Why does the woman suggest that they should not go by bus?

A. No direct bus can be taken,
B. The bus often breaks down.

C. There will be too many people on the bus at that time,




